BUS 310, Exam #2B, Fall 2018 Name

“hi

Section

Instructions: This exam is|in two parts: Part | is to be completed partly
posted on Blackboard for Part | and you will answer questions about t

to be completed entirely in class. You may not use cell phones, and yo
resources you are specifically directed to use. You may access your da
Blackboard. You may access the data files posted to Blackboard for the
using the data file that matches the exam version you are given.

Part I: At Home

This part was completed at home. You can upload the Excel file for Pa
Blackboard for use during the Exam period. However, this submission
it must be submitted to the “to be graded folder” to receive credit.

Part Il: In Class

1. Use the work done at home to answer the Part | questions.

2. Open the file from the in-class portion of the final posted on B
version of the exam you have. This is Exam B.

3. Answer the questions corresponding to the data file, and any
required.

4. When you have finished answering questions on the exam, an
recorded on the paper test for grading, upload both the take

t home using the materials

t work in class below; Part Il is
may only access internet

file for Part | of the exam in
xam part Il. Be sure you are

| to the Part | folder in
ill not be graded in this location,

ckboard that corresponds to the
ditional calculation in Excel

all your answers have been
me Excel file and the in-class

Excel file to the same in-class Exam folder in Blackhoard for gr
to the correct folder will be graded. (If in doubt, put all work i
5. Turn in your paper copy of the exam to your instructor.
6. Enjoy your break!

ing. Only those files submitted
one Excel file.)




Part I

The following problems re

1. Reportonthe res

on sales. State yc";

>fer to problem #1 of Part I

ults of your ANOVA test of the types of Expefiience Training and their influence
ur null and alternative hypotheses, your tesfstatistic and P-value, and the

conclusion of your test. Give a sentence to explain the meanifig of the test in context

understandable by a lay person. (10 points)
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why not? (6 points)
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Its of your two-sample t-test. State the null @nd alternative hypotheses and

interpret the result in the context of the problem. Compare the results to the comparative
boxplots. Do the{r appear to agree? (8 points)
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nformation into their management strategy® (6 points)

ﬁwﬁ‘eﬂiﬂ\jﬂlm >/ e andl
ﬁ%af
wd so ave moof %




The follow questions refi
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ar to problems #2 from Part I:

l|1dings of your y?-test of independence. Stafle the null and alternative
ir test statistic and P-value, and the conclusigh. Give a sentence that
meaning of the test that a lay person can unflerstand. (10 points)
ard
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dependent or independent of home type? Explain. [Hint: this question is not
ypothesis test. This question is about your Knowledge of the data and the real
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8. Report on the results of the t-test. State the type of test conflucted, the null and alternative
hypotheses, the test-statistic.and P-value, and the conclusiorjlof the test. Summarize the results
in a single sentence that can explain the results in context tofa lay person unfamiliar with

statistics. (10 pojnts)
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The following questions refer to problem #4 from Part I:

9. State your best-f|it final regression equation and explain yourfreasoning as to why you chose this
option. Report the R? value for the equation you choose. ( points)
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10. What proportion of the variability in quantity sold can be ex
This question should be consistent with your previous result

ined by the variables you chose?
(6 points)
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11. Using your final model reported above, interpret the value offthe slope for Miles Driven in the

context of the pr

12. Using your final n
7,000 miles and i

13. Create a scatterp
provide at least t
dependent? Are
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oblem. (8 points)

nodel reported above, predict the maintenal
s 9 years old, if the trend continues. (6 point

the graphs nonlinear? Are there any outliers

e cost for a truck that drives
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o possible problems with the data. Are ind pendent variables actually
(8 points)
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Calculations in Excel: (1) 30 points, (2) 25 points, (3) 25 points, (4) 30 ui ints.




Part II:

14.

15. Does the genera

16. The R? value for

Included below is a scatterplot of weekly riders vs. daily par

on the graph, do
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g rate at the park-n-ride. Based
es the data appear to be linear or nonlinear} (6 points)

Weekly Riders vs. Parking Rate
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Parking Rate

$1.80  $2.00

Mo an

| trend of the graph appear to be positive (i ' reasing) or negative (decreasing)?

the linear trendline is 0.6801. What is the ialue of the correlation? (4 points)
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17. The linear trendgline for this graph is y = —170.83x + 1208§f. Use the equation to predict the

number of nderls if the trend continues, if parking rates risefto S’OO Does this value make

sense? Why or why not? (6 points)
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18. The following graph displays the residual plot for the relatiofiship between inspection costs and
motors returned.
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Idénfify at least two issues that the residual plot highlights f@r the linear model that produced
these residuals.| Explain what features of the graph are relatgd to each issue. (8 points)
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19. The regression utput for the multiple regression model preflicting ridership from four variables
is shown on the page following this problem. Use this informiation to answer the questions that
follow.

a. What is the

!standard error? Interpret the meaning of ths value in context? (6 points)
|
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b. State a 99% confidence interval for the coefficient of Pri

(

Per Ride. (6 points)

|

300.41, —26.36 )

c. Conduct a hypothesis test on the coefficient of Populatit
hypothesis, test statistic and P-value, and interpret the r
problem. (8 points)
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d. Interpret the meaning of the slope coefficient for Parkir
problem. (6 points)
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e. Write the equation for the multiple regression model. (§ points)

in the equation. State the
sults in the context of the
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Rate in the context of the

V= = 163.39X +0.685Fx, F 00448 x 3 +192. 845y
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f.  Use the model above to predict the number of weekly riflers for $0.25 price per ride, 1800
population, $5,500 income and $1.25 parking. (8 points|
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g = [PA=P) B — |mi-Dsi+(n,-1)s3
p n pooled Ny+n,—2
1 1
Sx1-x3 = Spooled ,Z +* Ty

Standard errors: Of =

Sle

. . . 2 4 2 2+ 2
Sample sizes: n > p(1 — p) (%’-2-) n> (z“/'Tﬂ- m=mn= ——Z“/fozl )
Confidence intervals:
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Test statistics: |
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Degrees of freediom (two samples, unpooled) v =

. _ (obs—exp)?
Xx*Tests: X% = Zant ceus T

_ _ (B9 _ _ MSE
ANOVA: MSE =SBl =2 yss= =

Upload your com:pleted Excel files to the Exam #2 submissionbox in Blackboard, and submit
your completed paper exam to your instructor. You may not fhodify anything once the exam is
submitted.



